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Xl A
- T
» QMM OZ 10FI5(decimal)E AtEE

—b.'—E1 977t x| 10712| 7|2 & ZEotat
= 10£ 7| (radix &= base)o.:l

= 2701 (blnary) 8%l4=(octal), 16 %/ 4=(hexadecimal)

= 162! (hexadecimal)
. 7|g 05 E 157} X]
{10, 11, 12, 13, 14, 15}= {A, B, C, D, E, F}= B3 &t

" 7|—|—. 16
= O,
9421 12 1100 101 752 22 899  AB87
10%l= 2% 8%l 16%l
847.21  0.254 11.001  1.01 145.23  744.2 7EFD  1.2BB
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A
2l

. 10%12:0| KEH|SH )&

25,426.365 = 20,000 + 5,000 + 400 + 20 + 6 + 0.300 + 0.060 + 0.005
=2x10% + 5x10% + 4x10%2 + 2x10" + 6x10° + 3x10' + 6x102 + 5x103

s QHIE O| p&IHH

= - 1
= 7[2:08H (b-1)7HX|
= 7[Fb
|

as | a, | a3 | a, | a; | a l a,s | a,| as;| ay

A= a;xb® + a,xb* + a;xb3 + a,xb? + a,xb! + a,xb"
+axb'+a,xb?+a,xb3+a,xb*
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n 01,
= 2%12=110101.100 — 1031 2£?
= 8%I3=7145.02 - 107l 4?2
= 167/ 8FE2.B2 — 10715 44?

110101.100 = 1x2% + 1x24+ 0x23 + 1x22 + 0x21 + 1x20 + 1x21 + 0x22 + Ox23
=32+16+0+4+0+1+05+0+0
=53.5

7145.02 = 7x8% + 1x82 + 4x8" + 5x80 + Ox8"1 + 2x 82
=3,084 +64 +32+5+0+0.03125
= 3,685.03125

8FE2.B2 = 8x163 + 15x162 + 14x16" + 2x16° + 11x 161 + 2x 162
= 32,768 + 3,840 + 224 + 2 + 0.6875 + 0.0078125
= 36,834.6953125
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10%l 2% = 8%l 16%1
0 0000 0 0
1 0001 1 1
2 0010 2 2
3 0011 3 3
4 0100 4 4
5 0101 5 5
6 0110 6 6
7 0111 7 7
8 1000 10 8
9 1001 11 9
10 1010 12 A
11 1011 13 B
12 1100 14 C
13 1101 15 D
14 1110 16 E
15 1111 17 F
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XItH B3}
B — I Ny
= 107 — 2%l HSE
75.6875
2| 75 LIHX] 2%l 2% d= &
2| 37 1 1 0. 6875
2| 18 1 11 x 2
2| 9 0 011 0.1 1. 3750
2| 4 1 1011 x 2
2| 2 0 01011 0.10 0. 7500
2| 1 0 001011 x 2
0 1 1001011 0.101 1. 5000
¥ x 2
1001011.1011 <------0.1011 1. 0
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X|EH H 3}

- EH L

= 28 -8Rl — 16Tl - 102~ &= Bzt

110101.100,) = 1x2° + 1x24+ 0x23 + 1x22 + 0x21 + 1x20 + 1x271 + 0x22 + 0x 23
=32+16+0+4+0+1+05+0+0

110101.100, = 110 101. 100
= 6 5 4

110101.100,,, = 0011 0101. 1000
= 3 5 8
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0 0
+ 0 1 +
00 1
102l 27|
el — 11 0110000
(carry) 49 = 00110001
+ 58 = + 00111010
107 = 01101011

153
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« 274 8O W4 EHI B4
- H|I
2%l R AL 12| H= 20| B
0000 0000 +0 +0 +0
0000 0001 +1 +1 +1
0111 1111 +127 +127 +127
1000 0000 -0 -127 -128
1111 1110 -126 -1 —2
1111 1111 -127 -0 -1
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00101010 00000000 00101010

10010111 10000000 10010111

00101010 00000000 00101010

10010111 11111111 10010111

00101010 00000000 00101010

10010111 11111111 10010111




. 2TI40| QAT S

—

» QHZEZ (overflow) Z4& 4= QU

Of, 8H|E QI 4t
10% 2%l
74 2| 01000010
98 = 01100010
+ 74 = + 01001010
— 84 = 10101100
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| HE A AT A
» THEE A HEE REsasd T
«» S-HE3
= Exponent — X|==
= Mantissa — 7=
T= IEEE 754 BE 2EASH 40| H|E gt CT[fES
e 8 bit 23 bit
S 3|r3|:| 29 2123 2 2 - 197
LT A H : :
G S| i Exponent ;| | i Mantissa
1 bit 52 bit
HHEE 63r52 6l 53 SZTEI 50 1023
piec I Exponent Pl Mantissa
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50 = 50.0x40° =5.0x101 = 0. 5x402

= 0,
75.6878 = 1001011.1011 = 1.00101110115,x28 = 1.0010111011,,x 20,
F= X|==(H}O] O] £ 127) 7t
T 01111111(127) + 110(6) 1.2 dEt 7t
0 10000101 00101110110000000000000
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|
= O,
-0.2 =-0.001100110011... 5, = 1.100110011... 2 x2-3 = 1.100110011... 5 x27" »,
BS X|$=(HFO|O{ A 127) 7t
=T 01111111(127) — 11(3) 1.2 H=Fot 7h¢
1 01111100 10011001100110011001100

I
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